		Summary of Bids Receive	ved			
Pro	oject: 21st St, Kenosha Rd, Wadswo	orth Rd				
	tion: 15-00999-18-RS	decession.				
-	tion: Road resurfacing, median lan5 Pin: B-00353	uscaping				
	Date: 4/12/2016					
Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng Estimate
Peter Baker & Son Company	1349 Rockland Road	Lake Bluff, IL 60044	Bid Bond	\$1,701,701.00	-17.46%	-\$360,058.
Payne & Dolan, Inc.	28435 W. Route 173	Antioch, IL 60002	Bid Bond	\$1,737,429.98	-15.73%	-\$324,329.
Engineer's Estimate				\$2,061,759.27		
Design	IDOT(2)	Contract Bidder	Р	JT then Plan Rack		
Finance	Bid Tab File	Resident Eng.	Α	dministrative Assis	tant	
Construction	Project File	Request By Mail	N	Agr Capital Program	nming	

Bid Tabulation

 Project:
 21st St, Kenosha Rd, Wadsworth Rd

 Section:
 15-00999-18-RS

 Description:
 Road resurfacing, median landscaping

 CPMS Pin:
 B-00353

									Peter Baker & Son	
Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Payne & Dolan, Inc. Unit Price	Extnd. Price	Company Unit Price	Extnd. Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	82.00	UNIT	\$50.00	\$4,100.00	\$30.00	\$2,460.00	\$30.00	\$2,460.00
2	20101200	TREE ROOT PRUNING	12.00	EACH	\$100.00	\$1,200.00	\$100.00	\$1,200.00	\$100.00	\$1,200.00
3	20101400	NITROGEN FERTILIZER NUTRIENT	242.00	POUND	\$3.00	\$726.00	\$2.00	\$484.00	\$2.00	\$484.00
4	20101600	POTASSIUM FERTILIZER NUTRIENT	242.00	POUND	\$3.00	\$726.00	\$2.00	\$484.00	\$2.00	\$484.00
5	20200100	EARTH EXCAVATION	4,753.00	CU YD	\$25.00	\$118,825.00	\$31.30	\$148,768.90	\$31.30	\$148,768.90
6	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	89.00	UNIT	\$250.00	\$22,250.00	\$135.00	\$12,015.00	\$260.00	\$23,140.00
7	20800150	TRENCH BACKFILL	20.00	CU YD	\$100.00	\$2,000.00	\$60.70	\$1,214.00	\$60.70	\$1,214.00
8	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	4,104.00	SQ YD	\$1.50	\$6,156.00	\$2.10	\$8,618.40	\$2.10	\$8,618.40
9	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	12,978.00	SQ YD	\$4.00	\$51,912.00	\$3.50	\$45,423.00	\$3.50	\$45,423.00
10	25000210	SEEDING, CLASS 2A	2.70	ACRE	\$2,500.00	\$6,750.00	\$4,840.00	\$13,068.00	\$4,840.00	\$13,068.00
11	25100630	EROSION CONTROL BLANKET	12,978.00	SQ YD	\$1.50	\$19,467.00	\$1.25	\$16,222.50	\$1.25	\$16,222.50
12	28000305	TEMPORARY DITCH CHECKS	308.00	FOOT	\$15.00	\$4,620.00	\$18.00	\$5,544.00	\$18.00	\$5,544.00
13	28000400	PERIMETER EROSION BARRIER	3,046.00	FOOT	\$2.50	\$7,615.00	\$3.00	\$9,138.00	\$3.00	\$9,138.00
14	28100105	STONE RIPRAP, CLASS A3	49.00	SQ YD	\$75.00	\$3,675.00	\$75.10	\$3,679.90	\$75.10	\$3,679.90
15	30300112	AGGREGATE SUBGRADE IMPROVEMENT, 12"	3,798.00	SQ YD	\$13.00	\$49,374.00	\$21.05	\$79,947.90	\$21.05	\$79,947.90
16	35101400	AGGREGATE BASE COURSE, TYPE B	1,869.00	TON	\$30.00	\$56,070.00	\$24.50	\$45,790.50	\$5.00	\$9,345.00
17	40201000	AGGREGATE FOR TEMPORARY ACCESS	240.00	TON	\$30.00	\$7,200.00	\$21.80	\$5,232.00	\$21.80	\$5,232.00
18	40600290	BITUMINOUS MATERIALS (TACK COAT)	43,146.00	POUND	\$0.01	\$431.46	\$0.01	\$431.46	\$0.01	\$431.46
19	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10.00	TON	\$500.00	\$5,000.00	\$500.00	\$5,000.00	\$75.00	\$750.00
20	40600525	LEVELING BINDER (HAND METHOD), N50	10.00	TON	\$500.00	\$5,000.00	\$225.00	\$2,250.00	\$75.00	\$750.00

Bid Tabulation

 Project:
 21st St, Kenosha Rd, Wadsworth Rd

 Section:
 15-00999-18-RS

 Description:
 Road resurfacing, median landscaping

 CPMS Pin:
 B-00353

									Peter Baker & Son	
Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Payne & Dolan, Inc.	5 4 5 4 5	Company	5.1.1.0.1.1
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
21	40600625	LEVELING BINDER (MACHINE METHOD), N50	1,259.00	TON	\$75.00	\$94,425.00	\$61.18	\$77,025.62	\$75.00	\$94,425.00
22	40600990	TEMPORARY RAMP	293.00	SQ YD	\$15.00	\$4,395.00	\$14.50	\$4,248.50	\$1.00	\$293.00
23	40603080	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N50	4,568.00	TON	\$75.00	\$342,600.00	\$65.00	\$296,920.00	\$55.10	\$251,696.80
24	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	3,882.00	TON	\$80.00	\$310,560.00	\$70.00	\$271,740.00	\$63.75	\$247,477.50
25	42001300	PROTECTIVE COAT	29.00	SQ YD	\$10.00	\$290.00	\$10.00	\$290.00	\$10.00	\$290.00
26	44000100	PAVEMENT REMOVAL	84.00	SQ YD	\$15.00	\$1,260.00	\$33.60	\$2,822.40	\$33.60	\$2,822.40
27	44000159	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	21,721.00	SQ YD	\$4.00	\$86,884.00	\$2.20	\$47,786.20	\$2.35	\$51,044.35
28	44000167	HOT-MIX ASPHALT SURFACE REMOVAL, 4 1/2"	6,404.00	SQ YD	\$4.50	\$28,818.00	\$4.00	\$25,616.00	\$3.65	\$23,374.60
29	44000200	DRIVEWAY PAVEMENT REMOVAL	2,977.00	SQ YD	\$7.00	\$20,839.00	\$10.95	\$32,598.15	\$10.95	\$32,598.15
30	44000300	CURB REMOVAL	115.00	FOOT	\$15.00	\$1,725.00	\$15.00	\$1,725.00	\$15.00	\$1,725.00
31	44000500	COMBINATION CURB AND GUTTER REMOVAL	30.00	FOOT	\$15.00	\$450.00	\$15.00	\$450.00	\$15.00	\$450.00
32	44201761	CLASS D PATCHES, TYPE I, 10 INCH	219.00	SQ YD	\$50.00	\$10,950.00	\$31.50	\$6,898.50	\$25.00	\$5,475.00
33	44201765	CLASS D PATCHES, TYPE II, 10 INCH	327.00	SQ YD	\$50.00	\$16,350.00	\$31.60	\$10,333.20	\$25.00	\$8,175.00
34	44201769	CLASS D PATCHES, TYPE III, 10 INCH	983.00	SQ YD	\$50.00	\$49,150.00	\$31.50	\$30,964.50	\$25.00	\$24,575.00
35	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	655.00	SQ YD	\$50.00	\$32,750.00	\$31.50	\$20,632.50	\$25.00	\$16,375.00
36	44300100	AREA REFLECTIVE CRACK CONTROL TREATMENT	26,471.00	SQ YD	\$2.00	\$52,942.00	\$0.99	\$26,206.29	\$0.99	\$26,206.29
37	48101200	AGGREGATE SHOULDERS, TYPE B	1,374.00	TON	\$45.00	\$61,830.00	\$40.00	\$54,960.00	\$18.00	\$24,732.00
38	50105220	PIPE CULVERT REMOVAL	108.00	FOOT	\$25.00	\$2,700.00	\$19.85	\$2,143.80	\$19.85	\$2,143.80
39	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	1.00	EACH	\$1,000.00	\$1,000.00	\$1,047.50	\$1,047.50	\$1,047.50	\$1,047.50

Bid Tabulation

 Project:
 21st St, Kenosha Rd, Wadsworth Rd

 Section:
 15-00999-18-RS

 Description:
 Road resurfacing, median landscaping

 CPMS Pin:
 B-00353

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Payne & Dolan, Inc. Unit Price	Extnd. Price	Peter Baker & Son Company Unit Price	Extnd. Price
40	54213660	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15"	2.00	EACH	\$1,050.00	\$2,100.00	\$1,118.50	\$2,237.00	\$1,118.50	\$2,237.00
41	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	234.00	FOOT	\$60.00	\$14,040.00	\$56.45	\$13,209.30	\$56.45	\$13,209.30
42	550A0070	STORM SEWERS, CLASS A, TYPE 1 15"	161.00	FOOT	\$70.00	\$11,270.00	\$64.75	\$10,424.75	\$64.75	\$10,424.75
43	550A0120	STORM SEWERS, CLASS A, TYPE 1 24"	26.00	FOOT	\$100.00	\$2,600.00	\$79.50	\$2,067.00	\$79.50	\$2,067.00
44	550A0450	STORM SEWERS, CLASS A, TYPE 2 36"	33.00	FOOT	\$120.00	\$3,960.00	\$131.50	\$4,339.50	\$131.50	\$4,339.50
45	550A2320	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1 12"	100.00	FOOT	\$70.00	\$7,000.00	\$56.40	\$5,640.00	\$56.40	\$5,640.00
46	55100700	STORM SEWER REMOVAL 15"	78.00	FOOT	\$25.00	\$1,950.00	\$14.95	\$1,166.10	\$14.95	\$1,166.10
47	56105702	INSERTING VALVES 12"	1.00	EACH	\$8,000.00	\$8,000.00	\$16,335.00	\$16,335.00	\$16,335.00	\$16,335.00
48	56109210	WATER VALVES TO BE ADJUSTED	2.00	EACH	\$500.00	\$1,000.00	\$280.00	\$560.00	\$280.00	\$560.00
49	56400800	FIRE HYDRANT AND VALVE TO BE MOVED	4.00	EACH	\$1,000.00	\$4,000.00	\$6,355.00	\$25,420.00	\$6,355.00	\$25,420.00
50	60100905	PIPE DRAINS 4"	200.00	FOOT	\$35.00	\$7,000.00	\$34.55	\$6,910.00	\$34.55	\$6,910.00
51	60100915	PIPE DRAINS 6"	200.00	FOOT	\$38.00	\$7,600.00	\$35.30	\$7,060.00	\$35.30	\$7,060.00
52	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	2.00	EACH	\$2,500.00	\$5,000.00	\$2,550.00	\$5,100.00	\$2,550.00	\$5,100.00
53	60219000	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 8 GRATE	1.00	EACH	\$2,200.00	\$2,200.00	\$2,540.00	\$2,540.00	\$2,540.00	\$2,540.00
54	60224005	MANHOLES, TYPE A, 6'-DIAMETER, TYPE 8 GRATE	1.00	EACH	\$6,000.00	\$6,000.00	\$5,052.00	\$5,052.00	\$5,052.00	\$5,052.00
55	60235300	INLETS, TYPE A, TYPE 1 FRAME, CLOSED LID	1.00	EACH	\$1,500.00	\$1,500.00	\$1,366.00	\$1,366.00	\$1,366.00	\$1,366.00
56	60262700	INLETS TO BE RECONSTRUCTED	2.00	EACH	\$1,000.00	\$2,000.00	\$1,295.00	\$2,590.00	\$1,295.00	\$2,590.00
57	60500040	REMOVING MANHOLES	1.00	EACH	\$650.00	\$650.00	\$290.00	\$290.00	\$290.00	\$290.00
58	60600605	CONCRETE CURB, TYPE B	115.00	FOOT	\$30.00	\$3,450.00	\$36.00	\$4,140.00	\$36.00	\$4,140.00
59	60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	98.00	FOOT	\$30.00	\$2,940.00	\$36.00	\$3,528.00	\$50.00	\$4,900.00

Bid Tabulation

 Project:
 21st St, Kenosha Rd, Wadsworth Rd

 Section:
 15-00999-18-RS

 Description:
 Road resurfacing, median landscaping

CPMS Pin: B-00353

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Payne & Dolan, Inc. Unit Price	Extnd. Price	Peter Baker & Son Company Unit Price	Extnd. Price
60	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	30.00	FOOT	\$30.00	\$900.00	\$36.00	\$1,080.00	\$36.00	\$1,080.00
61	67100100	MOBILIZATION	1.00	L SUM	\$113,470.54	\$113,470.54	\$50,000.00	\$50,000.00	\$118,515.00	\$118,515.00
62	70300100	SHORT-TERM PAVEMENT MARKING	18,805.00	FOOT	\$0.50	\$9,402.50	\$0.10	\$1,880.50	\$0.01	\$188.05
63	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	2,672.00	SQ FT	\$1.00	\$2,672.00	\$0.01	\$26.72	\$0.01	\$26.72
64	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	568.00	SQ FT	\$2.50	\$1,420.00	\$1.00	\$568.00	\$0.01	\$5.68
65	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	17,874.00	FOOT	\$0.30	\$5,362.20	\$0.22	\$3,932.28	\$0.01	\$178.74
66	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	13,162.00	FOOT	\$0.40	\$5,264.80	\$0.25	\$3,290.50	\$0.01	\$131.62
67	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	1,313.00	FOOT	\$0.50	\$656.50	\$0.30	\$393.90	\$0.01	\$13.13
68	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	1,110.00	FOOT	\$1.00	\$1,110.00	\$0.70	\$777.00	\$0.01	\$11.10
69	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	46.00	FOOT	\$2.00	\$92.00	\$3.00	\$138.00	\$0.01	\$0.46
70	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	8,014.00	FOOT	\$1.00	\$8,014.00	\$0.50	\$4,007.00	\$0.01	\$80.14
71	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	568.00	SQ FT	\$5.00	\$2,840.00	\$5.00	\$2,840.00	\$5.00	\$2,840.00
72	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	1,328.00	FOOT	\$1.25	\$1,660.00	\$0.65	\$863.20	\$0.65	\$863.20
73	78001120	PAINT PAVEMENT MARKING - LINE 5"	11,846.00	FOOT	\$0.50	\$5,923.00	\$0.39	\$4,619.94	\$0.05	\$592.30
74	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	180.00	EACH	\$20.00	\$3,600.00	\$0.01	\$1.80	\$8.00	\$1,440.00

Bid Tabulation

Project:21st St, Kenosha Rd, Wadsworth RdSection:15-00999-18-RS

Description: Road resurfacing, median landscaping

CPMS Pin: B-00353

ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Payne & Dolan, Inc.		Peter Baker & Son Company	
item No.	Fay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
75		TREE, CELTIS OCCIDENTALIS (COMMON HACKBERRY), 2-1/2" CALIPER, BALLED AND BURLAPPED	4.00	EACH	\$550.00	\$2,200.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00
76	A2007120	TREE, QUERCUS RUBRA (RED OAK), 2-1/2" CALIPER, BALLED AND BURLAPPED	4.00	EACH	\$550.00	\$2,200.00	\$575.00	\$2,300.00	\$575.00	\$2,300.00
77	C2005824	SHRUB, RHUS AROMATICA GRO-LOW (GRO-LOW FRAGRANT SUMAC), 2' WIDTH, BALLED AND BURLAPPED	45.00	EACH	\$90.00	\$4,050.00	\$80.00	\$3,600.00	\$80.00	\$3,600.00
78	C2008318	SHRUB, ROSA PURPLE PAVEMENT (PURPLE PAVEMENT ROSE), 18" HEIGHT, CONTAINER	18.00	EACH	\$90.00	\$1,620.00	\$60.00	\$1,080.00	\$60.00	\$1,080.00
79	K0012990	PERENNIAL PLANTS, ORNAMENTAL TYPE, GALLON POT	5.00	UNIT	\$1,200.00	\$6,000.00	\$2,500.00	\$12,500.00	\$2,500.00	\$12,500.00
80	K0036118	MULCH PLACEMENT 3"	393.00	SQ YD	\$12.00	\$4,716.00	\$7.00	\$2,751.00	\$7.00	\$2,751.00
81	LC200051	REJECTED LOAD TRANSPORTATION	8.00	LOAD	\$400.00	\$3,200.00	\$90.00	\$720.00	\$90.00	\$720.00
82	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	11,444.00	UNIT	\$1.00	\$11,444.00	\$1.00	\$11,444.00	\$1.00	\$11,444.00
83	LC400000	BUTT JOINT FOR ENTRANCE RESURFACING	897.00	FOOT	\$10.00	\$8,970.00	\$6.15	\$5,516.55	\$9.00	\$8,073.00
84	LC500228	GRATED CULVERT END SECTIONS, 24" DIAMETER	1.00	EACH	\$1,000.00	\$1,000.00	\$1,120.00	\$1,120.00	\$1,120.00	\$1,120.00
85	LC600200	INSTALL SURVEY MONUMENTS	1.00	EACH	\$600.00	\$600.00	\$1,250.00	\$1,250.00	\$750.00	\$750.00
86	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	17,778.00	FOOT	\$2.00	\$35,556.00	\$1.20	\$21,333.60	\$1.20	\$21,333.60
87	LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	1,313.00	FOOT	\$3.00	\$3,939.00	\$2.00	\$2,626.00	\$2.00	\$2,626.00
88	LC780025	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 12"	1,098.00	FOOT	\$6.00	\$6,588.00	\$4.00	\$4,392.00	\$4.00	\$4,392.00
89	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	46.00	FOOT	\$12.00	\$552.00	\$9.50	\$437.00	\$9.50	\$437.00

Bid Tabulation

 Project:
 21st St, Kenosha Rd, Wadsworth Rd

 Section:
 15-00999-18-RS

 Description:
 Road resurfacing, median landscaping

 CPMS Pin:
 B-00353

ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Payne & Dolan, Inc. Unit Price	Extnd. Price	Peter Baker & Son Company Unit Price	Extnd. Price
90	X2070304	POROUS GRANULAR EMBANKMENT, SPECIAL	896.00	CU YD	\$50.00	\$44,800.00	\$50.30	\$45,068.80	\$50.30	\$45,068.80
91	X2110100	TOPSOIL FURNISH AND PLACE, SPECIAL	197.00	CU YD	\$35.00	\$6,895.00	\$75.00	\$14,775.00	\$75.00	\$14,775.00
92	X2800500	INLET PROTECTION, SPECIAL	7.00	EACH	\$350.00	\$2,450.00	\$175.00	\$1,225.00	\$175.00	\$1,225.00
93	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL VARIABLE DEPTH	1,358.00	SQ YD	\$5.00	\$6,790.00	\$4.84	\$6,572.72	\$11.15	\$15,141.70
94	X6013600	PIPE UNDERDRAINS 4" (MODIFIED)	2,666.00	FOOT	\$16.00	\$42,656.00	\$3.95	\$10,530.70	\$3.95	\$10,530.70
95	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	11.00	EACH	\$700.00	\$7,700.00	\$2,310.00	\$25,410.00	\$960.00	\$10,560.00
96	X6062206	STAMPED COLORED PORTLAND CEMENT CONCRETE MEDIAN SURFACE 6 INCH	1,018.00	SQ FT	\$20.00	\$20,360.00	\$13.80	\$14,048.40	\$17.75	\$18,069.50
97	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	4.00	CAL MO	\$3,000.00	\$12,000.00	\$2,100.00	\$8,400.00	\$1,000.00	\$4,000.00
98	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.00	LSUM	\$56,735.27	\$56,735.27	\$11,950.00	\$11,950.00	\$57,207.46	\$57,207.46
99	XX000856	MAILBOX REMOVAL AND RELOCATION	25.00	EACH	\$250.00	\$6,250.00	\$150.00	\$3,750.00	\$100.00	\$2,500.00
100	XX008865	PERMEABLE PLASTIC BERM	363.00	FOOT	\$25.00	\$9,075.00	\$12.00	\$4,356.00	\$12.00	\$4,356.00
101	XX206400	MAILBOX POST	25.00	EACH	\$150.00	\$3,750.00	\$100.00	\$2,500.00	\$200.00	\$5,000.00
		Bid Total				\$2,061,759.27		\$1,737,429.98		\$1,701,701.00

業	LakeCo Division of	Dunty Transportation							
	Project: Section: Description: CPMS Pin: Let Date:								
					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	82	UNIT	\$50.00	\$4,100.00	\$30.00	\$30.00	\$30.00
2		TREE ROOT PRUNING	12	EACH	\$100.00	\$1,200.00			
3	20101400	NITROGEN FERTILIZER NUTRIENT	242	POUND	\$3.00	\$726.00	\$2.00	\$2.00	\$2.00
4	20101600	POTASSIUM FERTILIZER NUTRIENT	242	POUND	\$3.00	\$726.00	\$2.00	\$2.00	\$2.00
5	20200100	EARTH EXCAVATION	4,753	CU YD	\$25.00	\$118,825.00	\$31.30	\$31.30	\$31.30
6	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	89	UNIT	\$250.00	\$22,250.00	\$135.00	\$260.00	\$197.50
7	20800150	TRENCH BACKFILL	20	CU YD	\$100.00	\$2,000.00	\$60.70	\$60.70	\$60.70
8	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	4,104	SQ YD	\$1.50	\$6,156.00	\$2.10	\$2.10	\$2.10
9	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	12,978	SQ YD	\$4.00	\$51,912.00	\$3.50	\$3.50	\$3.50
10	25000210	SEEDING, CLASS 2A	3	ACRE	\$2,500.00	\$6,750.00	\$4,840.00	\$4,840.00	\$4,840.00
11	25100630	EROSION CONTROL BLANKET	12,978	SQ YD	\$1.50	\$19,467.00	\$1.25	\$1.25	\$1.25
12	28000305	TEMPORARY DITCH CHECKS	308	FOOT	\$15.00	\$4,620.00	\$18.00	\$18.00	\$18.00
13	28000400	PERIMETER EROSION BARRIER	3,046	FOOT	\$2.50	\$7,615.00	\$3.00	\$3.00	\$3.00
14	28100105	STONE RIPRAP, CLASS A3	49	SQ YD	\$75.00	\$3,675.00	\$75.10	\$75.10	\$75.10

業	LakeCo Division of	Dunty Transportation							
	Section:								
					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
15	30300112	AGGREGATE SUBGRADE IMPROVEMENT, 12"	3,798	SQ YD	\$13.00	\$49,374.00	\$21.05	\$21.05	\$21.05
16	35101400	AGGREGATE BASE COURSE, TYPE B	1,869	TON	\$30.00	\$56,070.00	\$5.00	\$24.50	\$14.75
17	40201000	AGGREGATE FOR TEMPORARY ACCESS	240	TON	\$30.00	\$7,200.00	\$21.80	\$21.80	\$21.80
18	40600290	BITUMINOUS MATERIALS (TACK COAT)	43,146	POUND	\$0.01	\$431.46	\$0.01	\$0.01	\$0.01
19	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	10	TON	\$500.00	\$5,000.00	\$75.00	\$500.00	\$287.50
20	40600525	LEVELING BINDER (HAND METHOD), N50	10	TON	\$500.00	\$5,000.00	\$75.00	\$225.00	\$150.00
21	40600625	LEVELING BINDER (MACHINE METHOD), N50	1,259	TON	\$75.00	\$94,425.00	\$61.18	\$75.00	\$68.09
22	40600990	TEMPORARY RAMP	293	SQ YD	\$15.00	\$4,395.00	\$1.00	\$14.50	\$7.75
23	40603080	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N50	4,568	TON	\$75.00	\$342,600.00	\$55.10	\$65.00	\$60.05
24	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	3,882	TON	\$80.00	\$310,560.00	\$63.75	\$70.00	\$66.88
25	42001300	PROTECTIVE COAT	29	SQ YD	\$10.00	\$290.00	\$10.00	\$10.00	\$10.00
26	44000100	PAVEMENT REMOVAL	84	SQ YD	\$15.00	\$1,260.00	\$33.60	\$33.60	\$33.60
27	44000159	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	21,721	SQ YD	\$4.00	\$86,884.00	\$2.20	\$2.35	\$2.28

	LakeCo Division of	Dunty Transportation							
	Project: Section: Description: CPMS Pin: Let Date:								
ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate Unit Price	Extnd. Price	Min Bid Price	Max. Bid Price	Avg Bid Price
28	44000167	HOT-MIX ASPHALT SURFACE REMOVAL, 4 1/2"	6,404	SQ YD	\$4.50	\$28,818.00	\$3.65	\$4.00	\$3.83
29	44000200	DRIVEWAY PAVEMENT REMOVAL	2,977	SQ YD	\$7.00	\$20,839.00	\$10.95	\$10.95	\$10.95
30	44000300	CURB REMOVAL	115	FOOT	\$15.00	\$1,725.00	\$15.00	\$15.00	\$15.00
31	44000500	COMBINATION CURB AND GUTTER REMOVAL	30	FOOT	\$15.00	\$450.00	\$15.00	\$15.00	\$15.00
32	44201761	CLASS D PATCHES, TYPE I, 10 INCH	219	SQ YD	\$50.00	\$10,950.00	\$25.00	\$31.50	\$28.25
33	44201765	CLASS D PATCHES, TYPE II, 10 INCH	327	SQ YD	\$50.00	\$16,350.00	\$25.00	\$31.60	\$28.30
34	44201769	CLASS D PATCHES, TYPE III, 10 INCH	983	SQ YD	\$50.00	\$49,150.00	\$25.00	\$31.50	\$28.25
35	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	655	SQ YD	\$50.00	\$32,750.00	\$25.00	\$31.50	\$28.25
36	44300100	AREA REFLECTIVE CRACK CONTROL TREATMENT	26,471	SQ YD	\$2.00	\$52,942.00	\$0.99	\$0.99	\$0.99
37	48101200	AGGREGATE SHOULDERS, TYPE B	1,374	TON	\$45.00	\$61,830.00	\$18.00	\$40.00	\$29.00
38	50105220	PIPE CULVERT REMOVAL	108	FOOT	\$25.00	\$2,700.00	\$19.85	\$19.85	\$19.85
39	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	1	EACH	\$1,000.00	\$1,000.00	\$1,047.50	\$1,047.50	\$1,047.50
40	54213660	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15"	2	EACH	\$1,050.00	\$2,100.00	\$1,118.50	\$1,118.50	\$1,118.50

業	LakeCo Division of	Dunty Transportation							
	Project: Section: Description: CPMS Pin: Let Date:								
					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
41	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	234	FOOT	\$60.00	\$14,040.00	\$56.45	\$56.45	\$56.45
42	550A0070	STORM SEWERS, CLASS A, TYPE 1 15"	161	FOOT	\$70.00	\$11,270.00	\$64.75	\$64.75	\$64.75
43	550A0120	STORM SEWERS, CLASS A, TYPE 1 24"	26	FOOT	\$100.00	\$2,600.00	\$79.50	\$79.50	\$79.50
44	550A0450	STORM SEWERS, CLASS A, TYPE 2 36"	33	FOOT	\$120.00	\$3,960.00	\$131.50	\$131.50	\$131.50
45	550A2320	STORM SEWERS, RUBBER GASKET, CLASS A, TYPE 1 12"	100	FOOT	\$70.00	\$7,000.00	\$56.40	\$56.40	\$56.40
46	55100700	STORM SEWER REMOVAL 15"	78	FOOT	\$25.00	\$1,950.00	\$14.95	\$14.95	\$14.95
47	56105702	INSERTING VALVES 12"	1	EACH	\$8,000.00	\$8,000.00	\$16,335.00	\$16,335.00	\$16,335.00
48	56109210	WATER VALVES TO BE ADJUSTED	2	EACH	\$500.00	\$1,000.00	\$280.00	\$280.00	\$280.00
49	56400800	FIRE HYDRANT AND VALVE TO BE MOVED	4	EACH	\$1,000.00	\$4,000.00	\$6,355.00	\$6,355.00	\$6,355.00
50	60100905	PIPE DRAINS 4"	200	FOOT	\$35.00	\$7,000.00	\$34.55	\$34.55	\$34.55
51	60100915	PIPE DRAINS 6"	200	FOOT	\$38.00	\$7,600.00	\$35.30	\$35.30	\$35.30
52	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	2	EACH	\$2,500.00	\$5,000.00	\$2,550.00	\$2,550.00	\$2,550.00
53	60219000	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 8 GRATE	1	EACH	\$2,200.00	\$2,200.00	\$2,540.00	\$2,540.00	\$2,540.00
54	60224005	MANHOLES, TYPE A, 6'-DIAMETER, TYPE 8 GRATE	1	EACH	\$6,000.00	\$6,000.00	\$5,052.00	\$5,052.00	\$5,052.00

	LakeCo Division of	Dunty Transportation							
	Section:								
	Day Carda	Bernistian	0	11-24	Eng Estimate	Faturd Dates		Mary Did Duise	
Item No.	Pay Code	Description INLETS, TYPE A, TYPE 1 FRAME, CLOSED LID	Quantity 1	Unit EACH	Unit Price \$1,500.00	Extnd. Price \$1,500.00	\$1,366.00	Max. Bid Price \$1,366.00	Ţ.
56		INLETS TO BE RECONSTRUCTED	2	EACH	\$1,000.00	\$1,000.00	\$1,295.00	\$1,295.00	
57		REMOVING MANHOLES	-	EACH	\$650.00	\$650.00	\$290.00	\$290.00	
58	60600605	CONCRETE CURB, TYPE B	115	FOOT	\$30.00	\$3,450.00	\$36.00		
59	60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	98	FOOT	\$30.00	\$2,940.00	\$36.00	\$50.00	\$43.00
60	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	30	FOOT	\$30.00	\$900.00	\$36.00	\$36.00	\$36.00
61	67100100	MOBILIZATION	1	L SUM	\$113,470.54	\$113,470.54	\$50,000.00	\$118,515.00	\$84,257.50
62	70300100	SHORT-TERM PAVEMENT MARKING	18,805	FOOT	\$0.50	\$9,402.50	\$0.01	\$0.10	\$0.06
63	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	2,672	SQ FT	\$1.00	\$2,672.00	\$0.01	\$0.01	\$0.01
64	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	568	SQ FT	\$2.50	\$1,420.00	\$0.01	\$1.00	\$0.51
65	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	17,874	FOOT	\$0.30	\$5,362.20	\$0.01	\$0.22	\$0.12
66	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	13,162	FOOT	\$0.40	\$5,264.80	\$0.01	\$0.25	\$0.13

業	LakeCo Division of	Dunty Transportation							
					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
67	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	1,313	FOOT	\$0.50	\$656.50	\$0.01	\$0.30	\$0.16
68	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	1,110	FOOT	\$1.00	\$1,110.00	\$0.01	\$0.70	\$0.36
69	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	46	FOOT	\$2.00	\$92.00	\$0.01	\$3.00	\$1.51
70	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	8,014	FOOT	\$1.00	\$8,014.00	\$0.01	\$0.50	\$0.26
71	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	568	SQ FT	\$5.00	\$2,840.00	\$5.00	\$5.00	\$5.00
72	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	1,328	FOOT	\$1.25	\$1,660.00	\$0.65	\$0.65	\$0.65
73	78001120	PAINT PAVEMENT MARKING - LINE 5"	11,846	FOOT	\$0.50	\$5,923.00	\$0.05	\$0.39	\$0.22
74	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	180	EACH	\$20.00	\$3,600.00	\$0.01	\$8.00	\$4.01
75	A2002920	TREE, CELTIS OCCIDENTALIS (COMMON HACKBERRY), 2-1/2" CALIPER, BALLED AND BURLAPPED	4	EACH	\$550.00	\$2,200.00	\$500.00	\$500.00	\$500.00
76	A2007120	TREE, QUERCUS RUBRA (RED OAK), 2-1/2" CALIPER, BALLED AND BURLAPPED	4	EACH	\$550.00	\$2,200.00	\$575.00	\$575.00	\$575.00

	LakeCo Division of	Dunty Transportation							
	Section: Description: CPMS Pin:	Return Bid Details 21st St, Kenosha Rd, Wadsworth Rd 15-00999-18-RS Road resurfacing, median landscaping B-00353 4/12/2016							
					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
77	C2005824	SHRUB, RHUS AROMATICA GRO-LOW (GRO-LOW FRAGRANT SUMAC), 2' WIDTH, BALLED AND BURLAPPED	45	EACH	\$90.00	\$4,050.00	\$80.00	\$80.00	\$80.00
78	C2008318	SHRUB, ROSA PURPLE PAVEMENT (PURPLE PAVEMENT ROSE),	18	EACH	\$90.00	\$1,620.00	\$60.00	\$60.00	\$60.00
79	K0012990	PERENNIAL PLANTS, ORNAMENTAL TYPE, GALLON POT	5	UNIT	\$1,200.00	\$6,000.00	\$2,500.00	\$2,500.00	\$2,500.00
80	K0036118	MULCH PLACEMENT 3"	393	SQ YD	\$12.00	\$4,716.00	\$7.00	\$7.00	\$7.00
81	LC200051	REJECTED LOAD TRANSPORTATION	8	LOAD	\$400.00	\$3,200.00	\$90.00	\$90.00	\$90.00
82	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	11,444	UNIT	\$1.00	\$11,444.00	\$1.00	\$1.00	\$1.00
83	LC400000	BUTT JOINT FOR ENTRANCE RESURFACING	897	FOOT	\$10.00	\$8,970.00	\$6.15	\$9.00	\$7.58
84	LC500228	GRATED CULVERT END SECTIONS, 24" DIAMETER	1	EACH	\$1,000.00	\$1,000.00	\$1,120.00	\$1,120.00	\$1,120.00
85	LC600200	INSTALL SURVEY MONUMENTS	1	EACH	\$600.00	\$600.00	\$750.00	\$1,250.00	\$1,000.00
86	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	17,778	FOOT	\$2.00	\$35,556.00	\$1.20	\$1.20	\$1.20
87	LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	1,313	FOOT	\$3.00	\$3,939.00	\$2.00	\$2.00	\$2.00

業	LakeCo Division of	Transportation							
	Section:								
					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
88	LC780025	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 12"	1,098	FOOT	\$6.00	\$6,588.00	\$4.00	\$4.00	\$4.00
89	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	46	FOOT	\$12.00	\$552.00	\$9.50	\$9.50	\$9.50
90	X2070304	POROUS GRANULAR EMBANKMENT, SPECIAL	896	CU YD	\$50.00	\$44,800.00	\$50.30	\$50.30	\$50.30
91	X2110100	TOPSOIL FURNISH AND PLACE, SPECIAL	197	CU YD	\$35.00	\$6,895.00	\$75.00	\$75.00	\$75.00
92	X2800500	INLET PROTECTION, SPECIAL	7	EACH	\$350.00	\$2,450.00	\$175.00	\$175.00	\$175.00
93	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL VARIABLE DEPTH	1,358	SQ YD	\$5.00	\$6,790.00	\$4.84	\$11.15	\$8.00
94	X6013600	PIPE UNDERDRAINS 4" (MODIFIED)	2,666	FOOT	\$16.00	\$42,656.00	\$3.95	\$3.95	\$3.95
95	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	11	EACH	\$700.00	\$7,700.00	\$960.00	\$2,310.00	\$1,635.00
96	X6062206	STAMPED COLORED PORTLAND CEMENT CONCRETE MEDIAN SURFACE 6 INCH	1,018	SQ FT	\$20.00	\$20,360.00	\$13.80	\$17.75	\$15.78
97	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	4	CAL MO	\$3,000.00	\$12,000.00	\$1,000.00	\$2,100.00	\$1,550.00
98	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1	L SUM	\$56,735.27	\$56,735.27	\$11,950.00	\$57,207.46	\$34,578.73
99	XX000856	MAILBOX REMOVAL AND RELOCATION	25	EACH	\$250.00	\$6,250.00	\$100.00	\$150.00	\$125.00

	Project: Section:	Return Bid Details 21st St, Kenosha Rd, Wadsworth Rd 15-00999-18-RS Road resurfacing, median landscaping B-00353								
						Eng Estimate				
Item No.	Pay Code	Description		Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
100	XX008865	PERMEABLE PLASTIC BERM		363	FOOT	\$25.00	\$9,075.00	\$12.00	\$12.00	\$12.00
101	XX206400	MAILBOX POST		25	EACH	\$150.00	\$3,750.00	\$100.00	\$200.00	\$150.00
	Bid Total \$2,061,759.27									